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You can now finish Hwk #6 Sec 7-3

Page 382

Due Tomorrow

Problems 9, 10, 12, 14-17, 30, 32

Simplify.
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Remember what the result ALWAYS is when you
expand (a+b)@-b)=a’ - b?

These factors are called conjugates

Expand and simplify.

(7+J5)T7-J5)
O\L—\OL
= (3"
=45 = (Y



o 44 T = JT)

Simplify.

a6 —lo™
= (9" -0
= -7

(8J3 - V2)(843 +42)
DN o)

&=

“r’/

Boend (3+246)3-24/6)

At—b>

(9 -@Ve)"

- q-v6
- 9

D

Rationalize thi ominator:
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Rationalize the denominator. To rationalize a denominator Rationalize the denominator.
involving a sum or difference
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Divide then distribute Distribute then divide
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Rationalize the denominator.
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